
Locate the Main Operator 

1.   ∼(Α ⊃ Β)

a. the left parenthesis c. the tilde

b. the triple bar d. the horeshoe

  
 

 

2. ((Α ⊃ Β) v ~C)

a.the tilde c. the ampersand

b.the horshoe d. the wedge

 

 

3.  ((Α ⊃ Β) ≡ ∼Χ)

a. the wedge c. the tilde

b.the triple-bar d. the horshoe

 

 

 

4.  ((Α & Β) & ∼Χ)

a. the second
ampersand c. the tilde 

b.  the first
ampersand d. the smoger

 

 

 

5. (A ⊃ ((Β ⊃ Α) v Β))

a. the wedge c. the tilde

b. the horseshoe d. the first horseshoe

 

 

 

6.  ((A ⊃ ∼C) & ((Β ⊃ Α) v Β)))

a. the wedge c. the tilde

b. the second
horseshoe d.the ampersand

 

 

 

7.  (D v (~B ≡ (∼Ρ & ∼Ι)))

a. the triple-bar c. the ampersand

b. the first tilde d. the wedge

 

 



 

8. ((D v ~B) ≡ (∼Ρ & ∼Ι))

a. the triple-bar c. the first tilde

b. the wedge d. the second tilde

 

 

 

9.  ~~((D v ~B) ≡ (∼Ρ & ∼Ι))

a. the triple-bar c. the second tilde 

b. the wedge d.the first tilde

 

 

 

10.  ((A ≡ Β) ≡ (Χ ≡ Α))

a. the second
triple-bar c. the first triple-bar 

b. the third triple-bar d. all of the above
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